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Question ONE: Write the symbol of the most correct answer in the blank.

1.
[ ]

A population contains 8 members. The total number of samples of size 6 that
you can select (without replacement) from this population is:

(A) 28 (B) 48 (C) 63 (D) 56

2.
[ ]

The mean age of all cars registered in the United States is 7.7 years. The
mean age of a random sample of 1000 cars is 7.5. The sampling error is:

(A) −0.1 (B) 0.1 (C) 0.2 (D) −0.2

3.
[ ]

For a random variable, the population mean and the population standard de-
viation are 79 and 14, respectively. Assuming the population is normally distributed,
the standard deviation of the sampling distribution of the sample mean for a sample
of 16 elements taken from this population, rounded to two decimals, is:

(A) 4.5 (B) 0.88 (C) 2.81 (D) 3.5

4.
[ ]

If the population from which samples are drawn is normally distributed, then
the sampling distribution of the sample mean is:

(A) not normally distributed (B) always normally distributed

(C) normally distributed if n ≥ 30 (D) normally distributed if n ≤ 30

5.
[ ]

The value of t for 19 degrees of freedom and a 98% confidence interval is:

(A) 2.861 (B) 2.539 (C) 2.845 (D) 2.552
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6.
[ ]

The values assigned to a population parameter based on the value(s) of a
sample statistic are:

(A) the probabilities (B) the probability distribution

(C) a sampling distribution (D) estimate(s)

7.
[ ]

A sample of size 225 from a population having standard deviation σ = 3 pro-
duced a mean of 41. The 99% confidence interval for the population mean (rounded
to two decimal places) is:

(A) [40.49,41.51] (B) [40.53,41.47] (C) [40.74,41.26] (D) [40.67,41.33]

8.
[ ]

The standard IQ test has a mean of 96 and a standard deviation of 14. We
want to be 90% certain that we are within 4 IQ points of the true mean. Determine
the required sample size.

(A) 10 (B) 82 (C) 34 (D) 178

9.
[ ]

Find the value of E, the margin of error, for c = 0.99, n = 16 and s = 2.6.

(A) 1.92 (B) 0.48 (C) 1.69 (D) 1.45

10.
[ ]

Use the confidence interval (12,20) to find the margin of error and the sample
mean.

(A) x = 16, E = 8 (B) x = 16, E = 4 (C) x = 12, E = 8 (D) x = 20, E = 4

11.
[ ]

A researcher wishes to estimate the number of households with two cars. How
large a sample is needed in order to be 95% confident that the sample proportion
will not differ from the true proportion by more than 5%? Note: A previous study
indicates that the proportion of households with two cars is 22%.

(A) 339 (B) 113 (C) 264 (D) 186
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